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Unit 3 Study Guide

1) Name one pair of angles for each description.
Corresponding_ £ ,£ 7T § « 2, 5
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2) msl=x+7ms2 =2(x+ 2),and mzs4 =
2(x + 13) in the diagram below, find m«4.
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4) hat are the five theorems / ruleésTsed to prov
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6) APQR and ASTU are congruent triangles. Using
information, list the corresponding sides and
corresponding angles.
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7) For AEFG and AMNP, it is known that EG = MP, <G= <P, and FG = NP. Determine if the triangles are
congruent, and if so, by which type of congruency.

a. SSS

(b. SAS )

c. ASA

8) ADEF and ATUV are congruent triangles. Which statement is known

a.DE =TU c. DE=TV
_pBF=TD 4. DE=T7
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3) Findms3ifmsl =3x+ 1and ms2 = 2(x + 7).
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b that two triangles are congruent?
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5) Consider the triangles shown. Which rule, if any, can used to prove triangle congruency?
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D. It cannot be determined if the triangles are congruent.
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X 9) for AABC and ADEF, the following is given: £C = 2F, AB = DE, and BU = EF. By whig
statement can it be concluded that the triangles are congruent?

triangle congruence
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b. SAS annot be determined if the triangles are congruent.

10) AUVW and AXYZ are congruent triangles. Which statement is known to be true?
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® 11) Determine whether each pair of triangles is congruent. If so, write a congruence statement, and explain why

the triangles are congruent. A wie = - A %TS
ARPS T AQPS, s by AAS

13) Draw an exam 1e(ofa hori ontal compression.
) b f lfﬁrtfw&‘\t Lowf"‘-’

by &S

12) Drawn an example of a vertical.compression.
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14) True DRigid motion transformations such as translations, reflections & i "otations result in a pre-
image thatTs not congruent to its post-image. Dialatn w\§ ese V\o+ = e(\:.'f\
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15) True or@ Similar triangles are congruent. & ¥ Cil
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16) In the figure at right, the pre-image on the left has [T

been reflected about the y-axis. Explain how you B ﬁl— —
know that the post-image is congruent or not \ /
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'17) Find the distance between these two points. 18) Make sure you review reflections, rotations &

. translations.
Then find the partition segment with ratio of 1:3 for "
segmentAB Ax ' XX = ~b-(0~ -le ( "() 2
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